ENGINEERED PRODUCTS

RCS-004-3

Roofcurb Kit - RC004 (-1, -2, -3, -4)

For use with:

Rooftop Arrangement (RA) - D, Capacities (CA) - 50/80
Rooftop Arrangement (RA) - E, Capacities (CA) - 10/40

Approximate Curb Kit

Shipping Weight
RC004- Capacity (CA) | Weight (Ibs.)
-1 10/15 180
2 20/25/50 198
-3 30/35/60/70 216
-4 40/80 226
1 Ib. = 0.453 kg
CAPACITY (CAY | A B c
26.425 | 30.175 | 35.383
10/15 (671) | (766) | (899)
37.425 | 41.175 | 46.383
20/25/50 (951) | (1,046) | (1,178)
48.425 | 52.175 | 57.383
30/35/60/70 | (7230 | (1,325) | (1,457)
53.925 | 57.675 | 62.883
40/80 (1,370) | (1,485) | (1,597)

Roof Curb kits ship dis-assembled for ease
of handling and storage. All kits ship complete
with mounting hardware (for unit to curb),
insulation, gasketing, sealant and installation
instructions for field mounting.

Provide a suitable opening, or two openings,
in the roof as suggested in the individual
arrangement drawings, for the supply and/or
return air ducts. The installer may determine
his own openings to accept supply and/or
return air ducts to suit his particular needs.
He must also ensure that the installation will
not impair the function of the curb or the unit.

All roof curbs are to be mounted on level
areas (it may have to be shimmed or built up
if necessary). The roof must be suitable to
support the weight of both the curb and the
unit to be mounted. Refer to the installation
instructions for further mounting/installation
requirements.

All seams and joints must be sealed
completely prior to and after installation to
prevent any water or air leakage/damage.

Once the unit has been properly mounted,
remove (if necessary) the service panels from
the return air and supply air compartments.
Attach the ductwork to the lips provided in the
bottom panels of these compartments, and
seal these seams. See the individual sectional
drawings in this submittal for further details.

102.372
(2,600)
96.500
(2,451)
29.649 34.080 29.649
(753) (866) (753)
\ |
\ -
A B Cc
_1
| |
I 97.128 {
’— (2,467
A V] r
12.000
(305)
DIMENSIONS ARE IN INCHES
DIMENSIONS IN( ) ARE IN MILLIMETERS
THEORETICAL DIMENSIONS GIVEN; ACTUAL DIMENSIONS MAY VARY WITHIN .125 IN. (3 MM)
UNIT BASE
RAIL FLANGE
WITH CURB CAP
y —
4.00 CURB
(102) MOUNTING
A 1.00 (25) DETAIL
RUBBER
GASKET
12.00 NAILER N
(305) (WOOD STRIP) N
CANT
Y FELT ! L
ymm
.375 (10) CLEARANCE
ROOF SHOULD BE MAINTAINED
ON EACH SIDE TO INSURE
PROPER INSTALLATION.
’ - Project:
an = AN A J
- =21 ERLING
HVAC PRODUCTS  Unit Tag:

260 NORTH ELM ST. WESTFIELD, MA 01085
(413) 564-5540 » FAX: (413) 562-5311

www.sterlinghvac.com ;\ A MESTEK COMPANY



(6G6¢1) | (80¢°L)
z/1-¢5|2/1-15 or v 1Iv13a
. . (62) (Ww NI 39V SISIHINIYVA NI SNOISNIWIQ)
_ S3IHONI NI 3¥¥ SNOISNIWIQ
8%; Sww: ge/08 (SAN3 HLOE) 8/1-¢ R
o e ¥406/4€0 #1VO
0004 # LM 8¥N2 400y
Aﬁw\%u A@%mmv cz/0z SWV3s % SINIOP TV W3S o o
% “ 3 LNINIONVINY
'NMOHS SY 30V1d NI L¥3ANI !
Aowwv Aomwv s1/01 1INA HLIM d3Nddns — ;
,, « ) 40Ldvay aN3 dvO 83N2 y /
3 a v0) ALIOVAYO N O
(611) 9NINIJO 4004 ININIJO 400y ONINIJO 400
(s3ais HL08) 9L/LL—¥ 3 (611) (0sG) (c62°1) (0gg)
S — aL/LL—¥ —18/,.-02 8/1-05 8/1—0¢
40 ‘ST WNNTT ‘SO Y¥3dNVa
'S'0 ¥3dWva (52) (61%) (s2) (c2) (62%)
a A d406/£0 —8/L—8l——f I o —8//-8l—=
7400y EJOEN

Aumi SYIHLO Ag Q NYn13y

oL ONIHSY14/84N0 - Alddns

j o L —d
k ¥ w130 335 — e
r; vL F Jo-Q o0 O [.00 T
dvd 84N HLIM L L

Jivy 3sva LINN

9 2
NOISNILX3 d3dNVC NY\VN WNNT1d ATddNS 30VN¥N4 LONG  TYORILO3TI  ¥3JWVA/¥3LT4/43M0T8 ¥31000 IALVIOLVAI

(- ‘- 2- ‘1) ¥002H# UM ¥sn
ov/01 - (vD) senioede) ‘g - (vy) uswabuelly dojooy

ENGINEERED PRODUCTS

(65¢°1) | (BOE L)
Z/1-¢5|2/1-15 08
o1z | (381’ (e T (o 10 20 SIS
8 I o/03 (SAN3 HL08) 8/1-¢ Hi6virG Hivo
Aow%v A@mw%v 0c SWVIS % SINIOP TV Tv3S L\ A ool o ovaes”
e B a INFNIINVIY
3 a VD) ALIDVAYD ‘NMOHS SV 30V1d NI 143ANI ! /’
(v0) LINA HLIM 3Nddns L , ONIN3dO J00Y (os1)
¥OLdYaY ON3 dvd 839n0 ! % (0g5) ocl
ONINIJO 400 (6L1L) N O ) 8/.-07—= =—8/1-G
E| (s3ais HLog) 9L/LL—+ - 'S'0 ¥3dnva
(52) 'S0 ¥3dNva (s2) (64%)
= a d46+¥/¢d L =—8//—-8l—
300y NH008Y 7009 Z
J NN
(00%)  SYIHIO A < v
| 91 ONIHSY14/849n0 3 _
L J > > > T ]
k v 1IVI30 33S \/fﬂ - L Zo _ _
- ! Q. eo O J O _ o0 O J. °0 [ | ;
dvD 84N0 HLIM L 1
vy 3Sva LINN _
30VNdN4 1oNnd JOVNYN4 1oNnd IvOI¥10313 w@n_SZQ\wEZE\wE;OJm_ d37000 IANILVHOLVAT

(¥9)
NOISNILX3 d3dAVa m\ﬁ\w

(b~ ‘e- ‘2¢-) ¥002H# W) @sn
08/06S - (VD) senioede) ‘q - (vy) wwawabueny doyooy

uonesliddy 1y ging jooy



- a r J J I Y/ vy |
€5 STERLING.
HVAC PRODUCTS
Roof Curb Kit Assembly*
1.875 —f 1.875 —=f
(48) ’;RUBBER GASKET (48) FRUBBER GASKET
S B ) I
2.000
(51)
I A
WOOD NAILER— WOOD NAILER—"
12.000 CURB 12.000
(305) (305)

FELT

CANT

‘/ ROOF

—{ 4.497 L — 4.479 ~—
(114) (114)

NEOPRENE FACING SEAL

END RAIL SECTION SIDE RAIL SECTION

16 GA. 14 GA.

Roof Curb Kit RC004
Contents:

@ Curb Rail Assy - Side
@ Curb Rail Assy - End
@ Cross Brace - Curb

@ Bolt - 3/8-16 x 1" LG. Hex HD. (8) required

&

@ 3/8 Neoprene Seal Washer (8) required
@ 3/8-16 Hex Nyloc Nut (8) required

@ 1/4-14 x 5/8 LG. Hex Washer HD. Sheet Metal Screw Type “AB” (8) required
1/4 Neoprene Seal Washer (8) required

@ Screw - #10 x 1" LG. Pan HD. Type “BP” (8) required

Gasket

(4) Mounting Screws (curb to unit)

Sealant Tube(s)

Installation Instructions

Evaporative Cooler Platform Kit (see next page)

*All seams/joints must be sealed completely!



STERLING

HVAC PRODUCTS

-

Evaporative Cooler Kit
Included in Roof Curb Kit #RC004

VIEW A
TYP. (8) PLC'S.

(1) EVAPORATIVE COOLER ASSEMBLY

@ curs
(3 1/4-20 "KEPS™ NUT (16) REQ'D.
(4) 1/4-20 X 5/8 LG. HEX HD. BOLT (16) REQD.

SEE VIEW A

EVAPORATIVE COOLER CURB/PLATFORM MOUNTING ASSY
7-21-03





